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Section 3: Emissions, Targets and 

Projects.

3a: Emissions from start of the year which 

the body uses as a baseline to the end of 

the report year.



Section 3: Emissions, Targets and 

Projects.

3a:What is a Scope
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3b: Breakdown of emission 

sources.



Putting in Grid Electricity

• Grid electricity is a special case: the total emissions are made up of two parts: 
generation (at power stations or renewable sites) and transmission & distribution 
losses (cost of moving the electricity to the point of use)

Generation 0.462 kg CO2e/kWh Scope 2

T&D losses 0.038 kg CO2e/kWh Scope 3

• All you need to do is enter two rows in question 3b: one for generation 

(scope 2) and one for transmission & distribution losses (scope 3). The 

consumption data for both rows is your total grid electricity consumption in 

kWh



Putting in Water Use

• Water use is another special case: the total emissions are made up of two 

parts: water supply and water treatment

• All you need to do is enter two rows in question 3b: one for water supply 

(scope 3) and one for water treatment (scope 3). The consumption data for 

water supply is actual or estimated m3, the consumption data for water 

treatment is 95% of the total for supply



Putting in Biomass

• Biomass needs to be entered in two questions; both as an emissions source 

(input of biomass fuel) in Q3b

• And as a renewable output in Q3c 

• Input in kWh should be higher than output (otherwise you have a boiler that 

is +100% efficient)



3c: Generation, consumption and 

export of renewable energy



3d: Targets



3f: Detail the top 10 carbon reduction 

projects to be carried out by the body in the 

reporting year.



3e: Estimated total annual carbon savings 

from all projects implemented by the body in 

reporting year.



3h: Anticipated annual carbon savings from 

all projects implemented by the body in the 

year ahead.



3g: Estimated decrease in the body’s 

emissions attributed to factors (not reported 

elsewhere in the form) in the report year.



3i: Estimated decrease or increase in the body’s 

emissions attributed to factor (not reported elsewhere 

in this form) in the year ahead.



3j: Total carbon reduction project savings 

since the start of the year which the uses 

as a baseline for its carbon footprint

3k: Supporting information and best 

practice


